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Reading Exponential and Logarithmic Graphs

The practice midterm does not have any problems in which you are asked to answer questions
about exponential or logarithmic graphs. Here are a few questions of this type

1. Finding the base and other information about exponential graphs.
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The function g(x) is a reflection of 1(x)
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The function h(x) is a translation of g(x)
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4. Transformations. The functions g(x) and A(x) are translations of f(x).

a. f{x) =log,x Whatisa? L&

b. What is the asymptote of f{x)? _ K=O
(write as x=# or y=+#)
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5. Final Challenge: Is it an exponential graph or a log graph?

Can you find the functions for f(x) and g(x)? One is an exponential graph. One is a log
oraph. One has no transformations. The other has transformations.
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